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a) 

Predictor       Coef       StDev          T        P

Constant      33.535       2.614      12.83    0.000

x           -0.03540     0.01663      -2.13    0.047

S = 3.660       R-Sq = 20.1%     R-Sq(adj) = 15.7%

Analysis of Variance

Source       DF          SS          MS         F        P

Regression    1       60.69       60.69      4.53    0.047

Error        18      241.06       13.39

Total        19      301.75



[image: image10.wmf]392

.

13

ˆ

2

=

s


  
[image: image11.wmf]x

y

0353971

.

0

5348

.

33

ˆ

-

=


b)
[image: image12.wmf]226

.

28

)

150

(

0353971

.

0

5348

.

33

ˆ

=

-

=

y


c)
[image: image13.wmf]4995

.

29

ˆ

=

y


   
[image: image14.wmf]50048

.

1

4995

.

29

0

.

31

ˆ

=

-

=

-

=

y

y

e


11-13.

[image: image15.wmf]y

x

x

y

x

=

+

-

=

+

1

1

1

0

ˆ

)

ˆ

(

ˆ

ˆ

b

b

b

b


_1086529255

_1086529271

_1086529621

_1086529633

_1086529636

_1086529935

_1086529628

_1086529280

_1086529263

_1086529268

_1086529258

_1086529249

_1086529252

_1064665876.unknown

_1086529245

_973770463

